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QUESTION 1

Which of the following is true about implicit intents? (Choose two) 

A. They do not have a component specified. 

B. They have components specified to run an exact class. 

C. They must include information that allows Android system to choose the best component to run. 

D. They must contain extra information saved in a Bundle object. 

Correct Answer: AC 

 

QUESTION 2

The SharedPreferences class provides a general framework that lets you save and retrieve persistent key-value pairs of
primitive data types. 

A. False 

B. True 

Correct Answer: B 

 

QUESTION 3

What does the following code snippet do? 

A. Creates a FrameView. 

B. Creates a Cradview. 
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C. Creates a RecyclerView. 

D. Creates a ListView-

Correct Answer: C 

 

QUESTION 4

Which of the following is true about the Dialog class? (Choose two) 

A. You can add a custom layout to a dialog using setContentView(). 

B. A dialog has a life-cycle independent of the Activity. 

C. A dialog is displayed on the screen using method show(). 

D. It does not have a method to access the activity that owns it. 

Correct Answer: AC 

 

QUESTION 5

The following image includes Android code for an app that contains a button with an id : "Downloadbutton". 

When the app user clicks this button, a progress bar with id: "progressBar" will show up. 

What will happen if you change *\\'rate+=10" illustrated with green underlined text to "rate+=50"? 
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A. No any change m progress bar work. 

B. The progress bar will finish within two steps only. 

C. You will get error and the app will not work. 

D. The progress bar will work before slowly than before. 

Correct Answer: B 
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